7 2o B —HRENIR "o fE L

&Lty

Bk

e REM At EEHAERENE14-8

BERERE [e1e] 0120-544-594 2 0=
TS5UORE FRARE = WITHRE Bir# |&£5EEH#H| 5T AH
—A%ZE (18 A 3E) WEEFE G Ih= SLIRIZ 304 12044 15044
[EEGEA (BEEEADOTLLN) ]
m H # B BitE%E =
11 1,000,000 1,000,000

EXR SEESICE ?F%EX [FEESRE)

R EARZE—R-#EY — X - BRAELE - KB

ZfAR—X-BEERE—X-FRAE—

s

BT FHRESHIT- KEGERN-RETRE

MIERIZEMR - REO—

YOotHEFER—R

m_.z. g (g 1[ 100,000 100,000
Eﬁmﬁﬁfﬁt)?f—siﬁ'tjh i 15,000 15,000
*WEM 7 2,500 17,500
|8 (AS5—tYk) 1 30,000 30,000
EXZES 150 80 12,000
RSATAREHRE) 3 8,000 24,000 |[HFEICEYEEE
BEABIRbolA (AR~ T RAC X&) 1 24,800 24,800
EREIZE(CKESH~R5) 1 18,000 18,000
ElELEFTE) ARLESBT 1 42.000 42,000
B (A1 0—fE6R) 1 95,000 95,000
RESSE (FH=/TtYh) 1 20,000 20,000
(KEH (hEas) TEAAHS 1 12,000 12,000 |JEiEHe
KEEGAREEFERR(HE) 1 5,000 5,000 [JEEE
/NET 1,415,300
,ﬁ% i (8%) N ZEF] - REE = [F A E RS 111,864

& H O 1,527,164
[Mtdm(WETHNIESFRELET)]
TATONR (K0 1 42,000 42,000 | AR T =
ELYIYASY — (KEBZEDR) 1 20,000 20,000 [ ARILEGITE
cREMUH) 1 10,000
AR — I 1 80,000 80,000 [ AM VL EENFET
A IFFE—Z 1 40,000
2Tk —=K(2%x4) 1 64,000 64,000
INET 206,000
ﬁ% i (8%) 16,480

& H © 222,480
[ZDMFRH(CHFLEICIYSFEHLED) ]
EXZEN 150 500 75,000 [C AR CH & |
HEET: AN 150 2,500 375,000 [CFI B CH_fa g |
THELHE BRIEE Rk n 30 3,700 111,000
THELEE BRIERE) —BRaER 60 3,700 222000 |ZETFTERDES
HHLUHEGEEEZEL) 30 4,000 120,000
INET 903,000
JHER (8%) 72,240
& & @ 975,240

1/2



r=X:5E %2 Al

i@ RN (2H ) 1] 400,000 400,000

L (2B ) 1 40,000 40,000
HsrYRHELME 1 3,500

INET 440,000

SHE B (8%) 35,200

& #H @ 475,200
[EEERDOKREET]

BEO+Q+B3+@ ¥3,20,084
X{AL .,

COBRBYICEIHERICIVELTRELSNGNEBRBLEATEYEY O T, AIRCHFEICEYERSE THREET,

F=. BAEEVOHAHFHENMEOWTERICE, CHBO LCHFEZORROEFRECBNSETIREEY,

Dras [ ] {ﬁm%mﬁrmﬁmmr:;a YUYy —NRRBEF T v ORI D

i HEHTT., BEVI—ENaT. BERTEEERNCHNSN3BaR
wEARAE | MBEARRE] CRBIHICHE LTS,

¥

2/2






